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1. [EA19 =] E4A R Fet3}y)

W: Hi, Jason. Have you finished with the cover
design for our school English magazine?

M: Oh, Kate. Can you choose which one of these
is the best design?

W: I'd like to put the title, G-7IMES, at the top.

M: Where exactly?

W: I think putting it on the right is better.

M: Not in the middle? [pause]l Okay. Then,

which picture is better, the one with the
school or the one with the students?

W: I prefer people to buildings. The picture with
faces is much more lively.

M: I think so, too. And what do you think of the
school logo at the bottom?

W: T like the cover without it.

M: All right. Now, I know which one you like.
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W: Why the long face?

M: Actually, I reserved tickets for a rock concert,
but I don't think I can make it.

W: You mean the concert that you've been looking
forward to all year?

M: Yes! They'll finally have a concert here.
But....

W: What happened? Why can't you go to the
concert?

M: The problem is our Physics test falls on the
same day as the concert. It's terrible.

W: Haven't vou heard the news? The test has
been postponed until next week.

M: Really? Are you sure?

W: Definitely. I saw it on the notice board just a
moment ago.

M: Wow, that’s awesome!
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